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DU MPhil PhD in Education

Topic:- DU_J18_MPHIL_EDU

1) Directional hypothesis in research is stated only when:

i) Past research or theory suggests that the findings may go in a particular direction.
ii) Outcome of the research is easily predictable.

iii) There is direct relation between variables.

SRIYT B fe=ers uftweun $aa a9 & st ofe:

i) food oy a1 Rigiat @ gar aa f froed ve faRw fa=m & s 9w 31
ii) SIRIST % TR BT STAT TA A TR &I Fhal g

iiii) TR & o Aer G B |

[Question ID = 30835]

l.iandii/i AR i [Option ID = 63332]

2. i and iii / i 3R iii [Option ID = 63334]

3. ii and iii / ii 3R iii [Option ID = 63333]

4. All are correct / ¥t §§! § [Option ID = 63335]

Correct Answer :-
« iandiii / i 3R iii [Option ID = 63334]

2) 98% Confidence Interval for the mean can be interpreted as which of the following?

i) If all possible samples are taken and Confidence Intervals calculated, 98% of those intervals would include the true population mean
somewhere in their interval.

ii) You can be 98% confident that the mean of the selected sample includes the population mean.

w1 & T 98% fIYRT 3iGRTE (Confidence Interval) 31 3 g & | $1 sarlRaa far o oar 82

i) afe it Fufaa =arexf firg e ok fayTa SiaRTel Pt 7o Fi ST, @ 98% SiaRTEl W ARAfA® STETS BT I I SHaRTd § Bl S|

i) 31T 98% 3MTYR I Wb & fob TTd TGRT BT AL TSI F HIEH B A [PA YR |

[Question ID = 30819]

1. Both i and i are correct / i 3R ii Gl W&! § [Option ID = 63270]

2. Neither i nor ii is correct. / i 3R =1 € ii W& 8 [Option ID = 63271]
3. Only ii / %ad ii [Option ID = 63269]

4. Only i / 9d i [Option ID = 63268]

Correct Answer :-
« Bothiand ii are correct / i 3R i ﬁﬂ"ﬁﬁ% [Option ID = 63270]

3) Which of the following statements is inappropriate about case studies? / $9 W8I (case study) ¥ IR ¥ fuferi@d # § @19 91 oy 3fua
B 82

[Question ID = 30834]

1. Subjective bias is a constant threat to objective data gathering and analysis / TfaduR® Td’f%’, frsger ot wepA 3R fawemur % oY U gdd Wavl §
[Option ID = 63330]

2. Collecting data from multiple sources is crucial / THTTI® Al ¥ & Tha BT He@yof § [Option ID = 63331]

3. These usually follow a longitudinal approach, showing developments over a period of time / T AR R Th G{;ﬁ?ﬁ JURTH T OTe o ?, St o gm
3fafy 7 b 1 i § [Option ID = 63329]

4. They probe deeply and analyze interactions between the factors that explain the status / q TERIS Y W B g ok RUf Pt e & a1t HRBT B
IR R fam=f &7 fa=awor #=d & [Option ID = 63328]

Correct Answer :-
« These usually follow a longitudinal approach, showing developments over a period of time / q AR R Th Sﬁ%?ﬁ JURTH &1 T HRd %, S o
T 3fafy B fawr &1 iar & [Option ID = 63329]

4) Which of the following statements is not appropriate as per the medical model of disability

fawaimar & fifer aisa & gar el & 3 #1991 $y= Suge 8 82

[Question ID = 30861]

T 1. [T aeplcEs disabled chiidren and youE as SICR, |ncompeEenE and Incompl ete belngs. [ 46 SA&H d=l SR %(“\5‘” DI FHR, SAdH IR \5‘|‘C‘L‘{ YU o0 =Y H
fdl 81 [Option ID = 63438]
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2. It depicts disabled children and youth as those in need of care, kindness and training from professionals / T8 e s=if 3R Q,Eﬂsﬁ P 39 =0 H guifar
? e TYTd, IosiidT 3R UaRt & UiRiequr & STa<dehdl € | [Option ID = 63439]

3. It dominates the perceptions of both professional and naive people regarding the problems faced by children and youth with disabilities / T8 fadaiT |
3R gareit gRT AT b1 S arelt Fawmalf 3, URaR 3R TR, <11 ke & vl Bt 4Rumaf W gTdl 8 | [Option ID = 63437]

4. It is the most relevant model for inclusion / g FHIATH & e god URifites Asd | [Option ID = 63436]

Correct Answer :-
« Itis the most relevant model for inclusion / I8 THIIYH & foTT Ja& URifies Hisd 21 [Option ID = 63436]

5) Which of the following statements is incorrect with reference to the construction of a good questionnaire?

TP 33t ugTaelt & forafor & g § Fafifad & @ o9 a1 oy Tad 82
[Question ID = 30823]

1. Using multiple items to measure abstract constructs / &Hﬁ T3 B AU P AT B3 AT BT UGN BT [Option ID = 63286]
2. Using natural and familiar language / TTdfad 3T ORI UTOT T IUNT AT [Option ID = 63285]

3. Using leading or loaded questions / 3fJuft a1 HIRa Tt BT IR HRAT [Option ID = 63287]

4. Writing items in clear, precise and relatively short forms / e ﬁ, oy, TP 3R Gﬁ&m B =01 7 forgmr [Option ID = 63284]

Correct Answer :-
« Using leading or loaded questions / 3RTO a1 IR Ui T SUTNT AT [Option ID = 63287]

6) Which of the following statements is incorrect with respect to skewness of a normal distribution?

= v 9 fwadaar & Sy § Frofif@a § @ 919 91 oy Toad 22
[Question ID = 30833]

1. A distribution is negatively skewed, or skewed to the left, if the scores fall towards the higher side of the scale and there are very few low scores / 3TR
R, Wd F SR BR W 8 3R 39 fAaRor & g TR &1 T 9gd $H &, I IR0 ToRIEAS T4 J [qudde g7 a1 915 3R B avb fawwaa g
[Option ID = 63326]

2. A distribution is said to be skewed when mean and median are at different points in the distribution. / T& fIdRUT B favHad BT S1aT § Sa faaror Afeyen
3R A1 faaRor # fafte figaff wR §1 [Option ID = 63327]

3. A distribution is said to be positively skewed when scores are accumulated at the high end of the scale (Right hand side) / A S BR (ar GﬁT)tR STHT
B IR T fAdRU ) RIS ¥U § fawHdd Bl S7idT § [Option ID = 63325]

4. In a normal distribution, mean equals median / T& TTHI fqaR0T &, ATed, AT & SRTER &Il H [Option ID = 63324]

Correct Answer :-

« A distribution is said to be positively skewed when scores are accumulated at the high end of the scale (Right hand side) / A W BR (e Gﬁ?)q?
AT 8 R T fIR0T 31 GHRIAS 7Y J fqUHde H8T ST § [Option ID = 63325]

7) Which of the following best describes the ‘learned helplessness’?

frafafea # & 19 91 faeen Hidt 7€ eT@ar (learned helplessness) $T G 33T qUfH HdT 82
[Question ID = 30858]

1. A student is motivated to avoid failure / T faenff fawwarar @ sem & fow Ofka 7 [Option ID = 63424]

2. A student has learned that he or she has no control over the outcome of events / Tdh foemeff 3 dar % & gt & I R ITHT ﬁ'sc ferdzror :@ %
[Option ID = 63425]

3. A student has learned to achieve goals by investing effort / T faamlf ¥ yamg Fawr e @edt o1 gTRIe ST HIkaT § [Option ID = 63426]

4. A student tries again after failing to achieve a particular goal the first time / Ugalt R U faRiy e wifed & faveet 819 & 916 U foramff fOpr IR e
[Option ID = 63427]

Correct Answer :-

« A student has learned that he or she has no control over the outcome of events / Teb fa=melf 5 Trar & fob gerelf & Tl IR ST B8 g0 76 §
[Option ID = 63425]

8) Which of the following best describes the difference between classical and operant conditioning?

fFrafafaa & & 19 a1 qui= AR (classical) 3R AR (operant) IEa & e 3R W FaT 82
[Question ID = 30856]

1. In classical conditioning, the consequences of behavior have no role in learning / R 3G e H, TIER & TRUMAS Bt Ye H H15 YfiyesT el §
[Option ID = 63418]

2. In classical conditioning, a learning situation occurs more often because of immediate reinforcement. / TR S RCESE] T, RG] gﬂém & HRU A Bt
fRufa 3R @1t 81 [Option ID = 63416]

3. In operant conditioning, responses are elicited by stimuli / fSraTRId 3rg@em H, Ufafsar Stwies! & Aread I U 81l & [Option ID = 63417]

4. In operant conditioning, the reward strengthens the bond between stimuli and response / 1shaTigd STd T = TIPR, STIhT SR TTTeh T b S
TSTgd T & [Option ID = 63419] .
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Correct Answer :-

« In dlassical conditioning, the consequences of behavior have no role in learning / R 3IH T H, TAER P TR B WA & Bis Yf¥rewT 61 §
[Option ID = 63418]

9) Which of the following is counted under Specific Learning Disability?

fFrafafaa # & @1 Wt faflRy Wea $ g (Specific Learning Disability) & dgd {1 simar 82
[Question ID = 30850]

1. ADHD / ¥ S TF SI(ADHD) [Option ID = 63395]

2. Mental retardation / AFRI® Hedl [Option ID = 63392]

3. Dysgraphia / f&a@itsa1(Dysgraphia) [Option ID = 63394]
4, Autism / 3fT/¢SH (Autism) [Option ID = 63393]

Correct Answer :-
o Dysgraphia / STy (Dysgraphia) [Option ID = 63394]

10) Which of the following is not in tandem with the basic principles of Universal Design for Learning (UDL)?

e & @ $19 91 giadd fSga Bk af+ (ggive) F gard Rigial & sg=g T8 8?2
[Question ID = 30853]

1. UDL is not associated with broader context of learning / g, 3. ta. IRaa & e de 9 ST gl TE [Option ID = 63405]

2. UDL is directly associated with inclusive principles. / g, 3. ta. gaash Rigial 9 @ GIRES| NS Eﬁﬂ% [Option ID = 63406]

3. Accessibility aspects are integral part of UDL / ST u%qq.é’r. . &1 S e g [Option ID = 63404]

4. Considering only specific individuals for learning is not a part of principles of UDL / Fad fafRy fddqal &1 dRam & foe e & 3w, g, 3. Td. & fRgial
&1 g1 71 § [Option ID = 63407]

Correct Answer :-
« Considering only specific individuals for learning is not a part of principles of UDL / dad fafRrs safaqdl &1 Wra & fore e # 3@, g, €1 td. &
foregicli @1 fewan =&Y § [Option ID = 63407]

11) Which of the following points is consistent with the social model of disability?

FrafafEa & & s fig e & amifse afea & oy g2

[Question ID = 30847]

1. Disability is caused by the way society is organised, not by a person’s impairment. / famatTar forsft safad & 81 T 81, THS & WTed & did o gt Bl
[Option ID = 63383]

2. Impairments or differences should be fixed or changed by medical or other treatments / fRifereaT a1 3 IUIRY gRT &fd a1 HANS! Bt Sl T Feall ST
18T | [Option ID = 63381]

3. Society must focus on what are the shortcomings with the people and how they can adapt / GHIS P e 1 =i T safadelt o o witwat BRI
P 3B erd B | [Option ID = 63380]

4. It is impossible to cater to all requirements, and disadvantage is inevitable / gt srawadmarsi o TR BT SR %’,awaiﬁa’m &Nﬁ%ﬁ%I [Option ID =
63382]

Correct Answer :-
« Disability is caused by the way society is organised, not by a person’s impairment. / faarTdr fordt aafad ot g7 F &1, THS & TTed & i A
It 81 [Option ID = 63383]

12) Which is true with reference to Sampling Error? It .............

e 3 F Ty F B T 82 Terrrrrrsrnrrnnns
[Question ID = 30828]

1. is an error that occurs inadvertently owing to raw data. / g Wﬁ?ﬁiﬁ? 2 S B 1eef $ HRU 3 H gt %I [Option ID = 63307]

2. becomes progressively smaller as the sample size becomes larger. / TR T4 I BleT giar GI'I?IT%@@ IGR[ DT TR degdl STl %I [Option ID =
63304]

3. becomes progressively smaller as the sample size becomes smaller. / TTfcRld &4 Y ge o1l § S G HT MR gedl S g [Option ID = 63305]

4. has nothing to do with sample size. / =TGRl 3THR J DS T ST A B [Option ID = 63306]

Correct Answer :-

« becomes progressively smaller as the sample size becomes larger. / TR ¥4 J BeT gl ST % S T BT 3MHR SedT SITdT gl [Option ID =
63304]

GEES : ETGIW"UE 'cacd Y DT 3cIeRUl &2 [Question ID = 30832]
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1. Phenomenological research / YIcl €4 fagm =y [Option ID = 63323]

2. Survey Research / gdefor 2y [Option ID = 63321]

3. Ex-post facto research / BeIdR TNY (Ex-post facto research) [Option ID = 63322]
4. Ethnographic Research / mﬁﬂﬁ /Y [Option ID = 63320]

Correct Answer :-
* Phenomenological research / °UcH T2y fagm 2y [Option ID = 63323]

14) Read the following statements about Null Hypothesis. Which one of these is correct?

T uRe e & TR # Fafrfad o ud1 fFrafafaa & § 19 91 $y= 98 82 [Question ID = 30830]

1. It is restricted to experimental studies only / T8 Had YARTIED g ddb &l AT § [Option ID = 63315]

2. It is used to make judgments if the apparent differences in the sample are also true differences in the population / &1 JYIRT 39 a1 TR foflg om &
for ot fopam S § 13 ~ameet & vl €1 X% ofck ardfa® & a1 716l [Option ID = 63313]

3. It is directional / I€ fe=eT® % [Option ID = 63312]

4. Tt is made to know the differences in the mean of the selected samples / I8 Tafd <1aef  AIed & AANG! &I WA P T =T ST & [Option ID =
63314]

Correct Answer :-
« Itis used to make judgments if the apparent differences in the sample are also true differences in the population / 39T ITTNT 39 a1d R i o4 &
forg oft fopar e & b =ameef o udlla 81 3@ iR ardfdes § a1 =78l [Option ID = 63313]

15) Following is a list of topics suggested for research. Which among them is an example of experimental research?

U & g gee ¢ fawat 3 v gl R § € 31 579§ TR Y T TP IaTeR B A1 82
[Question ID = 30829]

1. Studying the experiences of teachers involved in adult literacy programme / ﬁ?{ R B H 2mivd et & &Hl{iﬁ T ALY hRAT [Option ID =
63310]

2. Studying the effect of media coverage on the views related to the retest of a paper in the board examination of Class X / &&T X &1 S gdlen & T U5 W
T UiRer0r ¥ efdd faar) wR Hif$ar Siarur & WHId &7 3eae $RAT [Option ID = 63311]

3. Studying the changes in the recommendations of various education policies since independence / Td=ar & a1 311 fafta Rien ot &t R &
FaaTdl Bl I HRAT [Option ID = 63309]

4, Giving detailed account of student — teacher relationships in a rural primary school of Uttaranchal / 3TRi<d % T o Tnfie e & fRiere-fammelf
Taelf BT fawqa U AT [Option ID = 63308]

Correct Answer :-

« Studying the effect of media coverage on the views related to the retest of a paper in the board examination of Class X / P&l X P IS W & U
T TR ORI Wafid faart v ifean smavur & UHIG T $1eqaH BT [Option ID = 63311]

16) Which among the following statements is not appropriate for Research?

IFHY F e FuferEa # @ $19 91 $y 3fa 76 82 [Question ID = 30824]

1. Research investigations are based on personal opinions. / 3{JHHTT G I W SA1eIiRd %I [Option ID = 63290]

2. Research is a systematic, controlled, empirical and critical investigation of hypothetical propositions. / Qﬁ%{, TR e TRdTdl &1 T oudl?dﬁ, ﬁﬁﬁﬁ,
SIHIS 3R Ayl SfF §1 [Option ID = 63288]

3. Research is scientific in nature. / 3IHUT aﬁwﬁramﬁm gl [Option ID = 63291]

4. Results of a research are open to public scrutiny by fellow professionals / MY F aRome Tt IR} gRT eI wid & forg Eﬁr gl [Option ID = 63289]

Correct Answer :-
« Research investigations are based on personal opinions. / 3JHYU fFITT 7T TR 3R g [Option ID = 63290]

17) A school is said to be following inclusive practice if:

TP T@d &1 U YT} ST UTa $ aral el SIrdl & afe: [Question ID = 30848]

1. Appropriate modifications are made in the school environment to ensure that students with special needs participate equally with other children in all
aspects ofschool./ﬁm%mﬁﬁﬁmwiﬁmﬁﬁ%mﬁ?%ﬁﬁ@ﬁmwﬁﬁ?mWWWﬁW%H*ﬁU&ﬁﬁWE@%
1Y JHH ¥9 I YT & ¥ | [Option ID = 63386]

. Students are prepared for placement in ordinary schools, where the onus is on the student to change and adapt to the school system / faemdffat &1 g
faeerdt & Frgfed & o dOR fohar o B, Set Wa § sime Ba & o et faenfial & €1t & [option ID = 63385]

. Students with special needs are given education in a specialized classroom where their needs are appropriately met. | TaRiy srawaddr ard [EEIREIK] Th
o= e & e < S § Sl St Savadaret & IR U W GRT {51 SITaT 81 [Option ID = 63384]

4. Teachers, students, administrators and other officials sit and discuss the various issues of education of students with special needs / &[W, ﬁwﬁ,

TR 3R 3 SR faRy srawadar ara faenflal ot fRien & fafte gef ) ==f w5 § [Option ID = 63387]

N

w

Correct Answer :-
« Appropriate modifications are made in the school environment to ensure that students with special needs participate equally with other children in all

aspects of school. / fEera & ATEId & Iferd T=Ne foby S § drfes g GiAfd favar o was o6 =iy simazgesar ara faemdf e & ot el & s
ST & 1T QAT 0 9 U1 & 9 T [Option 1D = 63386]
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18) From the given choices, which phrase will complete the statement? refers to inferring about the whole population based on
the observations made on a small part.

fw T fawent & |, B9 AT AR HUT BT TR BT 82 TH DI ¥ T W HY M0 et & MUR W Y 1ardt &Y Wehld Hear g1
[Question ID = 30825]

1. Pseudo-inference / © 3JHT [Option ID = 63292]

2. Inductive inference / ATHATHD FHTT [Option ID = 63294]
3. Objective inference / I 3{JHT [Option ID = 63293]

4. Deductive inference / FTTHATES 3fHT [Option ID = 63295]

Correct Answer :-
e Inductive inference / AFTHATHSD JHIA [Option ID = 63294]

19) According to who, is the development of student’s will an important aim of education?

T A fora & SR, faenff &t g=o1 &1 fawra Rien &1 te geayef Sgxu g 2
[Question ID = 30838]

1. Sartre / TR [Option ID = 63346]

2. Freud / 1IS [Option ID = 63345]

3. Skinner / RFR [Option ID = 63344]

4. Vygotsky / GRFTIaT [Option ID = 63347]

Correct Answer :-
o Sartre /9 R [Option ID = 63346]

20) In hypothesis testing, a Type 1 error occurs when ......cuveeeeees

TREeAT Ule0r 7, 157 1 e a9 Tl | T e [Question ID = 30831]

1. The null hypothesis is rejected even when it is true. / T 8- TR +t =T URee-T 3RABR R ot Wil g1 [Option ID = 63316]

2. The null hypothesis is not rejected even when it is true. / T 8 TR 1 T UREGeTHT SRAIGR a1 BI ST 81 [Option ID = 63317]

3. The alternate hypothesis is not rejected when in actual it should have been so. / e et URHTT SRATHR Tt B SIIcl) Safeh I § TET ST A8y ATl
[Option ID = 63319]

4. The alternate hypothesis is rejected so that the null hypothesis can be accepted. / I TRB T SRAIBR B off Sl § a1fde A IRBeTT WHR B
ST ¥ | [Option ID = 63318]

Correct Answer :-
o The null hypothesis is rejected even when it is true. / ¥ Eﬁ ot R URG T SRAIHR B Al STt %I [Option ID = 63316]

21) Posteriori knowledge is:

tﬁ'\‘E'ﬁ'!?ﬁ'\Pr(Posteriori) AT T %:
[Question ID = 30841]

1. Knowledge from the field of morality / AfFpdT F & F IH [Option ID = 63357]

2. Knowledge related to mathematical relationship / TR dey ST 3T [Option ID = 63356]

3. Knowledge based on logical tautologies / mwﬁﬁiﬁ(tautologies) R YR I [Option ID = 63359]
4. Knowledge based on experience and observation / 3fJHd 3R 3faelieT TR SR I [Option ID = 63358]

Correct Answer :-
» Knowledge based on experience and observation / 3{Hd 3R 3faelic TR 3eTRd I [Option ID = 63358]

22) A teacher of Class VI asked her students to name a person whom they would like to sit next to, while working on a class project,
while having lunch or would like to invite to their birthday party. Result revealed that Ritu was the most popular one while Nita was the
last choice of the group members. What is this technique of study known as?

FET VI & T R1ere 3 o= iy @ ver 39 aafda &1 9m 33 F fiw we1 s ar 3 wa diside R S $Id T9T &1 9184 8, IR BT Wie
HAT TTEd © T 3 STt Bt il § e @war argd 8 | aRuma @ var gen fr Ry 39 & 9ad Ao K wafe =i a9 & Jewl o st
g fY | 3T B 39 dP-te B T Pl oIdl 82 [Question ID = 30820]

1. Psycho-social linkages / T-QrTfores Tee(Psycho-social linkages) [Option ID = 63274]
2. Sociometry / W&Iﬁ(Sociometry) [Option ID = 63273]

3. Social gathering test / TS THT 1T%th‘i‘FUT(SociaI gathering test) [Option ID = 63275]
4. Social matrix / mﬁﬁw (Social matrix) [Option ID = 63272]

Correct Answer :-
* Sociometry / WW(Sociometry) [Option ID = 63273]

faftr =am 8Rfi? [Question ID = 30821]

waﬁmm %?é?arin%?ﬂ %l E'U‘g?ﬁ
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1. Survey / Gd&fur [Option ID = 63276]

2. Action Research / forardes 3[IYYT [Option ID = 63279]

3. Ex-post facto / AR 3T (Ex-post facto research) [Option ID = 63277]
4. Ethnography / mﬁﬂﬁ [Option ID = 63278]

Correct Answer :-
. Ethnography/aamﬁaw [Option ID = 63278]

24) Critical theories begin with the premise that men and women are essentially unfree and inhabit a world rife with contradictions and
asymmetries of power and privilege. Thus, Critical theories highlight
(i) power and knowledge relation
(ii) non-dialectical nature of reality
(iii) the relation of ideology and hegemony
(iv) hidden curriculum
Rygia (Critical Theories) &1 Yduel 3 fr qow 3R wfgemy srfFard v @ dye € ol wfd 7 fARwiier & Ryt o fawwarsi
¥ T fay & 78 €1 FHTEETHS RiEid (Critical Theories) % T fig ®
(i) T 3R I Ty
i) aRafawar Bt R-Fguefia upfa
(iii) FreRYRT 3R yrur=ger &1 fewar
(iv) gt g5 ureTaal

[Question ID = 30857]

1. (i), (i), (iii) (iv) [Option ID = 63423]
2. (i), (ii), (iii) [Option ID = 63420]
3. (i), (ii), (iv) [Option ID = 63422]
4. (i), (iii), (iv) [Option ID = 63421]

Correct Answer :-
(|) (|||), (|v) [Optlon ID = 63421]

25) Fill in the correct option that completes the following sentence:

Y

," refers to a kind of research that takes the perspectives and interactions of members of the social groups being
studied seriously. It is based on the premise that social reality can be understood through the rules which structure the relations between
the members of the group and which make it possible to interpret their actions, gestures and words.

fFrafafed are o1 {1 & e a9 e 7

. TP T Ty F1 e Rfa o & St ereres 7Py o 38 Irire el & Wl & uRiied ok arasia & 1iivar @ dar |
ugwﬁuanqﬁw%%vmﬁmamﬁwﬁﬁﬁuﬁ%mmﬁwmw%ﬁw%m%ﬁaw%ﬁﬁmm%aﬁ'\fa——ﬁ?
FHIT, Tdbdl 3R Gl BT RS HIAT HUT T B |

[Question ID = 30822]

1. Ethnography / -Ja=Ifd=T [Option ID = 63281]

2. Interpretative / ARATHD [Option ID = 63282]

3. Intersubjective / 3faR-fa¥a@® [Option ID = 63283]

4. Phenomenology / 9cHl €4 RG] (Phenomenology) [Option ID = 63280]

Correct Answer :-
. Ethnography/:ja’mﬁam [Option ID = 63281]

26) Deaf-Blind children may have problem in writing due to

IRR-AEH =) &) foreq A IR Sl aog AR ?
[Question ID = 30849]

1. attitude of peers / SR BT I3T [Option ID = 63391]

2. low intelligence / 1 Tg'@ [Option ID = 63390]

3. vision impairments and difficulties with eye-hand coordination / g 3R 3fra- BT TH-GY 1T BTl [Option ID = 63388]
4. non-availability of proper writing facilities / 3o oA ﬁfaﬁﬂd-ﬁ B AT g [Option ID = 63389]

Correct Answer :-
« vision impairments and difficulties with eye-hand coordination / - 3R 37Ra- BTY TH-GT Gl CAREIED [Optlon ID = 63388]

between the independent and dependent variable.
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ear Ft g & Ard H, WA SR A wRY & FiT FRT SR TUTT F T B S P aear RITUT Bl @ |
[Question ID = 30827]

1. Statistical conclusion validity / JifeFe1a feRt QT [Option ID = 63300]
2. Construct Validity / fRAT0T ST [Option ID = 63301]

3. External validity / Wéﬂ?ﬂ [Option ID = 63303]

4. Internal validity / 3fidfk@ J&dT [Option ID = 63302]

Correct Answer :-
« Internal validity / 3fidf¥es QT [Option ID = 63302]

28) Karl Popper, in the Logic of Scientific Discovery, proposed *--============-- * rather than ‘verifiability’ as a criterion of the meaning of
scientific statements and theories.

qitore 3T ATsfefthe fETPadt (Logic of Scientific Discovery) H ®Tel UIGR 3 ayNf=e aadded 3R Rigial & 3 & AFGS & ©u § "Tearg=Tam
(verifiability)' & oI '-----------=--—- ' yaTfad fHaTI [Question ID = 30846]

1. Falsifiability / f&7dT (Falsifiability) [Option ID = 63376]
2. Objectivity / fTsq&fdTaTe(Objectivity) [Option ID = 63378]
3. Subjectivity / G{I?!fITCIﬂT(Subjectivity) [Option ID = 63379]
4. Validity / aﬂ?ﬂ(Validity) [Option ID = 63377]

Correct Answer :-
« Falsifiability / Tremar (Falsifiability) [Option ID = 63376]

29) Surveys are used for a wide variety of purposes. Which of the following is not appropriate about Surveys?

Tdefur T ITERT fAf ypR & Ie=al & fore foran wimar @1 Fafafed # @ i a1 gderr & aR o 3RIa 71 82 [Question ID = 30818]

1. They delineate the reasons for particular practices / 3 faRw guraff & HRUT B R PRl & [Option ID = 63265]

2. They describe the frequency of demographic characteristics or traits held / 9 SR faRiwdret ar HUﬁ il &an% BT U B % [Option ID = 63264]
3. They explore relationships between different factors / 9 faf¥e R & s el BT T HRd & [Option ID = 63266]

4. They give in-depth understanding of a particular case / 3 U a9y ama (case) Eil W@?Ti Y gAY S0 & [Option ID = 63267]

Correct Answer :-

30) The term used to describe the act of researcher’s suspension of preconceptions and learned feelings about a phenomenon is called:

qdeerrai iR frdl gemT & TR ® W 7 Hraere ¥ freias &1 9uiq #7  R1e 3fd 8 : [Question ID = 30837]

1. Flexible designing / GEIS %WEﬁW(FIexible designing) [Option ID = 63341]
2. Bracketing / e (bracketing) [Option ID = 63342]

3. Axial coding / 31&f HIfEM(Axial coding) [Option ID = 63340]

4. De- briefing / SI-Sft1(De- briefing) [Option ID = 63343]

Correct Answer :-
« Bracketing / S e (bracketing) [Option ID = 63342]

31) Assistive technology devices
TS MRS IuHI0T

[Question ID = 30855]

1. are devices that improve functional abilities of individuals with disabilities / T IUSHRUT ot [aeratiT safaqal ot wrafdsd emarst o JUR SINE [Option ID =
63414]

2. are devices which do not consider the specific requirements of individuals with disabilities / & IUSHRUT § STt faaer Afal o fafiy srawgedrs w e
e d § [Option ID = 63412]

3. are devices that have a specific definition worldwide which guide medical and insurance related decisions / 9 IUHIT forTant gﬁm 1R ¥ Ue fafRmy afvuen
8, ST Rifee SR ot Teeht fofat &1 Anfasf St § [Option ID = 63415]

4. are not useful for individuals other than individuals with disability / faeaiT safaaal & sramar 3 safaqal & fare Iugift et & [Option ID = 63413]

Correct Answer :-

« are devices that improve functional abilities of individuals with disabilities / T¥ SUHRUT St fqeharT sfaqal &1 Hrierd Tl & YUR @1d & [Option
ID = 63414]

32)
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Match the items in List I (Sources of Literature Review) to those in List II

(Descriptors).

List I{Sources of literature review) List II(Description)

I Encyclopaedia {i) A long essav on a particular subject
especially one written for a
university degree

II ERIC (ii) Information on many subjects or on
many aspects of one subject mostly
intended to provide ready reference

III Joumals (i) A periodical published by a
specialized group having research articles

IV Dissertation {iv) Online digital library

AT 1 (Ao weveT & |1a) % srZess & gA71 11 (@akdi)® STEead &1 7a %l
AT 1 (ATTE THTET % Hd) AT 1T (Fofeena)

IREECEALE] (i) FRET Tasafa=meg & =T % &g =ew
oo o fergT 747 UF Sa7 HEy
11 3 =< =13, #i(ERIC) (i) % ot ar uw g ¥ w2 ugast w

AT =9 AFHET F2W 47 % g

III 7= (Journals) (iii) TF 98T Tz ST UF AAEE® TR
ATHGTT @ |l dheTe
IV &9 7% (iv) ez B sy
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4. random sample / Tefs® ey [Option ID = 63243]

Correct Answer :-
« convenience sample / @Wﬂ GR[ [Option ID = 63242]

35) A sample of 50 students was taken randomly from the university and it was found that these students spent Rs.1400 on an average
on books throughout the year. The standard deviation of spending is Rs.130. Which of the following is a 95% Confidence Interval for the
amount spent on books ?

fayfremea @ 50 o &1 Ue el arefse U A R war 3R a8 uran w1 % 349 et 3 9re wR fPamel w eiad 1400 30 @E Ul @
BT A faga 130 U 31 T&ID] IR T B 73 R & g 3777 A #I19 AT 95% YT 3iarTe(Confidence Interval) 8?2

[Question ID = 30836]

1. Rs 1400 + Rs. 130 or [1270, 1530] / 1400 ¥ + 130 ¥ &1 [1270, 1530] [Option ID = 63336]

2. Rs 1400 + Rs. 7.07 or [1392.9, 1407.07] / 1400 ¥ % 7.07 ¥ 4T [1392.9, 1407.07] [Option ID = 63339]
3. Rs 1400 % Rs. 18.38 or [1381.6, 1418.4] / 1400 ¥ + 18.38 % &I [1381.6, 1418.4] [Option ID = 63338]
4. Rs 1400 + Rs. 36.03 or [1363.9, 1436.03] / 1400 ¥ % 36.03 ¥ U1 [1363.9, 1436.03] [Option ID = 63337]

Correct Answer :-
e Rs 1400 % Rs. 36.03 or [1363.9, 1436.03] / 1400 ® £ 36.03 ¥ 4T [1363.9, 1436.03] [Option ID = 63337]

36) An investigator conducted Factor Analysis of tests used in research. S(he) is trying to establish........

TP QYdal 7 SFHYT & G0N HT HR fAIZAWT (Factor Analysis) 4T | 98 T WITRUG BT I8l /916 82 [Question ID = 30814]

1. Predictive Validity / 3FIATFA 3e@T [Option ID = 63251]
2. Construct Validity / 0T dedT [Option ID = 63250]

3. Criterion Validity / qHcs ey [Option ID = 63249]

4. Content Validity / fawg aﬂéw [Option ID = 63248]

Correct Answer :-
« Construct Validity / faf0r 3&dT [Option ID = 63250]

37) A sentence is factually significant to any given person if and only if s(he) knows how to verify the proposition which it purports to
express. That is, if s(he) knows what would lead him/her, under certain conditions, to accept the
proposition as being true, or reject it as being false.

Which of the following words completes the statement?

P a1y il S & o quaTas Agayul AT SITaT @ afe safed ug ST & fF SW 9190 & UaTd &1 qaniid $d a1 o1 Ioar 81 3rufd, 8RR
g W 8 & P Wl & ded, 39 TE! AP WPR B & e ARG S, T1 I Tad AP SRAPR B & e 9ika a3
|

fFrafafaa & § $19 91 g HYH TR T 8:

[Question ID = 30840]

1. Conclusions / f¥&F [Option ID = 63355]

2. Statements / Y- [Option ID = 63353]

3. Arguments / qs [Option ID = 63352]

4. Observations / 3faaid [Option ID = 63354]

Correct Answer :-
e Observations / AT [Option ID = 63354]

38) '‘Threats to reliability’ in an achievement test with respect to examiners and marking can be attributed to:
I: errors in marking.

II: inconsistency in response of the students.

III: inconsistency in marking within the same response sheet.

IV: inconsistency in marking among different examiners.

T Iuaiey Tle F Tiiert 3R i & Ty & Taaa-aar ot geifaai ' f5=1-f- oY aoig I 8 aodt 82

1: 3iwA ¥ Ffeai

I1: fenfiat & SRl & SRfwraan|

III: U9 8§ W YR & iR si o Srivraer|

1v: At wfierd! & i e & S[ATTadT| [Question ID = 30813]

1.1, III & IV / I, I1I 3R IV [Option ID = 63247]
2. 1&II/1 3R II [Option ID = 63244]

3.1, I & III / I, II 31K III [Option ID = 63245]
4.1, 11 &IV/ I, II 3R IV [Option ID = 63246]

Correct Answer :-
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o I, II&IV/ I, III 3R IV [Option ID = 63247]

39) What does the term ‘co-morbid’ denote?

TS T (P! Hifds) | 4T a1y 82
[Question ID = 30851]

1. Co-morbid denotes a condition that can appear independently and have a detrimental effect on performance / ¥dd &4 ¥ fewrs 37 areft we ufefufa %,
S 1 e IR 8o Re UHTd STd Gahd § [Option ID = 63396]

2. Co-morbid denotes a disability condition which occurs from birth / Teb Tt TRfRufer STt o771 ¥ UTS SiTclt ® [Option ID = 63399]

3. Co-morbid denotes a disability or condition that may co-occur along with another disability or condition / U U} eyt a1 o= S foeh 3R Sfoa=yT a1
S & A1y IRit S Fehell § [Option ID = 63397]

4. Co-morbid denotes a cognitive impairment that can shorten lifespan / T T TIATHAS ST SN Si1a- BT DI bel Tt %‘ [Option ID = 63398]

Correct Answer :-

« Co-morbid denotes a disability or condition that may co-occur along with another disability or condition / Td U ST a1 &= off fpedt 3R SR
7 <2 S 1Y It S Gebdl ® [Option ID = 63397]

40) Curriculum planning at any level of education should include the diverse socio-personal experiences of the students because:

Rren & fpalt +ft TR W ursTaf gerr # faenfal & fafay s -aaferma srgva wnfire ford oM =@, Fif%: [Question ID = 30844]

1. It is significant for engaging them with new ideas and ways of thinking. / B% g Ry 3R IM & Tt Gﬁ@ef E2 T%TH g HEEE[UT %I [Option ID =
63368]

2. The students are not interested in learning anything else other than their own ideas. | faenffat & oo foaRt & sraar P 3R e ) 3 e B g
[Option ID = 63369]

3. Parents and communities are against including experiences other than that of their own community. / SfYHTID 3R ™ & AT SO qHca & Glﬂﬂ-l?ﬁ
F ST 3 SFHT BT XM FRA F fJe g1 [Option ID = 63370]

4. It is important to appease the communities for the purpose of gaining votes. / ge T R4 & B%‘EZH q Eﬂ’c{ﬂfr 2l GRI XGAT ﬂ%ﬁ'ﬂ;ﬂf | [Option ID =
63371]

Correct Answer :-

« It is significant for engaging them with new ideas and ways of thinking. / R ACEIR 3R M & ! A o S A% fou gg W%I [Option ID =
63368]

41) Which of the following studies is an appropriate example for conducting a pure quantitative statistical analysis :

FPrafifea § ¥ S 91 w9 I TS Qi gy $39 ¥ R Te SUged 3180 2: [Question ID = 30826]

1. Understanding what it means to students to have their project displayed in science exhibition / T8 FHST fdb a3 v 7 St ufkaier vefkid 81 @
faenffal & fore @ 7@ & [Option ID = 63298]

2. Study of nature of students’ interactions in a cooperative lab class / Tdh Tearht TRINTRITe-de H faefial &t ara<ia o E@ﬁ BT Y [Option ID =
63299]

3. Study of relationship between students' attitude towards science and their achievement in the subject / faenfiat & fagm & ufa S{f\lﬁiﬁ 3R g fawa &
D! IUAT b TgHael o1 &I [Option ID = 63297]

4. Study of understanding the shared beliefs and practices of science teachers in a rural school in Odisha. / Sfifs=n & T faenaa § fagm & et o
T ATt 3R UTSH BT GHSH BT S| [Option ID = 63296]

Correct Answer :-

« Study of relationship between students' attitude towards science and their achievement in the subject / fa=nf¥idi & fasm & ufa siftrgfa iR 39 fawg
T 30! IuAfS & Tgdae BT 3T [Option ID = 63297]

42) Which of the following is a central theme of existential therapy?

frrafafaa # & @19 a1 iffrea fafersr @1 ve Fia fawg 82 [Question ID = 30845]

1. Neuro-linguistic programming / &g -HTSTS TfET [Option ID = 63374]

2. Authenticity / WTHTOTE AT [Option ID = 63375]

3. Uncovering childhood trauma / /U9 & 3{TETd &1 SR HRAT [Option ID = 63373]
4. Behaviour modification / IdgR T [Option ID = 63372]

Correct Answer :-

« Authenticity / ITHITOGT [Option ID = 63375]

43) Which of the following may not come under the purview of metaphysics?

Frafafea & & #i9 a1 awadiai F gy & 981 311 82 [Question ID = 30842]

1. Being / 81 & =d [Option ID = 63361]

2. Reality / IRdfdedT [Option ID = 63360]
3. Existence / 31 [Option ID = 63363]
4. Knowing / SITHHT [Option ID = 63362]

Correct Answer :-
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* Knowing / SITHAT [Option ID = 63362]

44) Which of the following teaching methods would be considered as most appropriate if you wish to apply Vygotsky’s notion of ‘Zone of
Proximal Development’ in the classroom?

Tfg 3Ty wem § aEMeIe! Pt YR HUTiad RIeTT 8 B ar] &1 9184 8, o i 3 | i @ Rieror faftr 3o 3fra writ singfi? [Question ID =
30860]

1. Individual learning project / SafaaTTa 3ifeRTH GREISHT [Option ID = 63432]
2. Competitive games / ufaeef @a [Option ID = 63434]

3. Peer tutoring / T GIRT &M [Option ID = 63433]

4. Group activities / ITfg® Tfafafd™i [Option ID = 63435]

Correct Answer :-
« Peer tutoring / TTYAT gRT f1&fT [Option ID = 63433]

45) Which of the following is unrelated to Carl Rogers’ work on ‘Personality’?

Frafafeaa d § @9 a1 o1 Ao F “aafdria’ W) S0 Q Hafiia 781 82 [Question ID = 30859]

1. Q-Sort / 3{—@&‘ (Q-Sort) [Option ID = 63430]

2. B-motives / 'qpf—fﬁ’a'e[( B-motives) [Option ID = 63428]

3. Self-actualizing tendency / 3TERITG TgfT [Option ID = 63429]

4, Organismic valuing process / TTGATEH® Jj\cuﬁ%\uul UfehdT (organismic valuing process) [Option ID = 63431]

Correct Answer :-
« Q-Sort / F-TE (Q-Sort) [Option ID = 63430]

46) Which of the following is not correct about the qualitative —quantitative debate?

UMD -ATATHS 969 & aR | faferad & § @19 a1 gt 781 82 [Question ID = 30817]

1. Positivism deals with what is observable and measurable in understanding the phenomenon. / Ud&diq ¥cT P T H aaidm-d 3R AU Uehl
1Y WIBR @1 &1 [Option ID = 63263]

2. Positivism applies to quantitative methods only. / Ui&dTe bad HETHS faffdt Uk @R &IdT 81 [Option ID = 63262]

3. Qualitative researchers often do not recognise positivism as the epistemological basis of their work. / JUTH® TNl AR YAEAIE Bl 30+ B & fog
IR YR % T H 6 Ugard g1 [Option ID = 63260]

4. Quantitative approaches have become synonymous with statistical methods. / ATATH® IUNTH TifeTH I Rl & gafg &9 T %I [Option ID = 63261]

Correct Answer :-
« Positivism applies to quantitative methods only. / Ud&diq FHad AETES faftrdf w ms‘ﬁn gl [Option ID = 63262]

47) Right of Persons with Disability Act, 2016 mainly focuses on:
feagirar SRR iftfFad, 2016 GBI ouceeceeereeeenes R FHiga &2

[Question ID = 30852]

1. Removing the shortcomings of PwD Act 1995 / Tt S&g 1 IfITH 1995 ST HIEAT &I ge [Option ID = 63400]

2. Assuring the safety and security of persons with disability / T safaaal @t Temdt Sk YR&T YT B [Option ID = 63401]

3. Reducing the number of disabled population / faaRTT STETE & TREAT BT HH HRA [Option ID = 63403]

4. Implementing the UN Convention on the Rights of Persons with Disabilities / fd@aiT safaadl & SRISRI TR g Y THITH P Haferd B [Option 1D
= 63402]

Correct Answer :-

« Implementing the UN Convention on the Rights of Persons with Disabilities / faeiiTT sufdddl & SHUBRI TR TG AP TR Bl Yaferd B [Option
ID = 63402]

48) Dyspraxiais a
fe<tfeTar (Dyspraxia) T 82 [Question ID = 30854]

1. Problem regarding coordination / SH-GT & &Y @ gE [Option ID = 63411]

2. Problem in mathematical calculation / TIOTCI TOHT &1 THXT [Option ID = 63409]

3. Problem of language perception or thought / HTST RO AT foaR &t ww=n [Option ID = 63408]
4. Problem of intellectual disability / G femd o JH=r [Option ID = 63410]

Correct Answer :-
« Problem regarding coordination / §H-dJ & G BT gEAT [Option ID = 63411]

49) According to Bourdieu’s theory, which of the following best describes capital?

TEI & Rigia & R i # | S 91 Yot B 3R U | afdfd #ar € ? [Question ID = 30839]

1. Socio-cultural and economic resources whose distribution is the responsibility of the state and whose deployment figures centrally in the reproduction of

that structure. /Wmﬁ&mwmﬁﬂﬁﬁ@rsmer @gaﬁ?wmmwm%wﬁﬁa%
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